
Steering Assembly



Steering Assembly
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1088726-NLA NLA - Steering Assembly 1 11
1088727-NLA NLA - Steering Assembly 1 12
1088787-NLA NLA - Tie Rods, Panther LX4 (Pair - 1 Long, 1

Short)
2 13

1088766-NLA NLA - Tie Rods, Panther MX4 (Pair - 1 Long, 1
Short)

2 14
1088798-NLA NLA - Steering Hardware - Panther LX4

Includes:  2 each Bolt (M6 x 1.0 x 35)
                2 each Nut, Self-Lock (6 x 10 x 8)
                2 each Nut, Self-Lock (8 x 13)
                2 each Bolt (M8 x 1.25 x 20)
                1 each U-Plate

1 1A

1091141-NLA NLA - Steering Hardware - Panther MX4
Includes:  2 each Bolt (M6 x 1.0 x 35)
                2 each Nut, Self-Lock (6 x 10 x 5)
                1 each Screw, Hex (M8 x 1.25 x 30)
                1 each Washer (8.1 x 13 x 3)
                4 each Nut, Self-Lock (8 x 1.25 x 13)
                2 each Screw, Hex (M8 x 1.25 x 35)
                2 each Spacer (12 x 8)
                1 each Screw, Hex (M8 x 1.25 x 60)
                1 each Spacer (12 x 35)

1 1A

A - Not Shown NOTE:
 


